Operaciones Mixtas oe Corazones (J)

.Cual es el valor de cada corazén?

0+ W =79 01— J  —66 25— N  —65
656~ K  —8 68~ M  —3 50— D —31
9222+ F  —g 20+ L —¢l 50— S  —66
9% VW —1a 9+ B =56 5+ @  —29
8- A =75 8x R =768 %+ G  —62
3% H  —27 80— | © | —47 ML T =115
v v

Ahora calcule las siguientes respuestas:

F + R =

&
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Operaciones Mixtas oe Corazones (J) Respuestas

.Cual es el valor de cada corazén?

0+ W  —79 01— J  —¢6 125 —
52 35
656~ K  —8 68~ M  —3 50 —
\/ \/
82 56
29+ F  —g 04+ L —6l 150 —
37 41
2 x \\1/:144 19 + \B/:56 15 +
72 37
®— A | =75 $x R =768 26 +
\/ \/
23 96
3 x \I-I/-:267 80— €  —47 34+
39 33

Ahora calcule las siguientes respuestas:

F J+ R =133
& GV
J + A -8
& GV

GIR¢

N —65
N

60

D -3
28

S  —66
N

4

Q =29
= 62

T =115

(

81
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